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#11         C+         3+2

 
a) 1.Cd6? Kg7! 2.Kf6+ Kph8 3.Ce7 Ke6!!
(3:Kf5? 4.Cf8 и т.д. по решению)

1.Cc1! Kg7/Kg3 2.Kf6+ Kph8 3.Ch6! Kf5! 4.Cf8! Ke7+/Kh4+ 5.Kpf7 Kf5 6.Ke4! Kph7 7.Kg5+ Kph8  8.Ca3!! 

8.Cc5? Kd6/Kh6+ 9.Kpf8 Kf5!; 8.Cb4? Kd6+ 9.Kpf8 Ke4! 8:Kd6+
(8:Kh6+ 9.Kpf8; 8:Kd4 9.Ce7 - 10.Cf6)
9.Kpf8 Kc4 10.Ce7 - 11.Cf6#
Круговой маневр слона a3-c1-h6-f8-a3.

Дополнительный близнец b)  Kd7-c7

1.Kp:h5? Kpf7? 2.Kpg5zz - #11, 1:Kd5! Kg72.Kf6+ Крh8 3.Сd6 Кf5 4.Сf8!zz и как в близнеце а).
1.Cd6? Kg7! 2.Kd5 Ke8/Kh5!
(2:Kf5? 3.Kf6+ Kph8 4.Cf8!  и т.д. по решению)
 
